TTTRE

Et7] (B5H7] 3)

0| &:
14 14
1 2
12 13
£1 0
17 5
t2 +3
6 2
2 +3
18 4
1 +2
4 10
2 +3
17 11
+1 2
2
+2

=N
1 5 17
+3 +1 +2 +3
9 8 4 19
1 +3 +2 +1
16 16 17 9
+ 2 +3 +2 +1
10 10 11
+3 +1 +3 1
2 13 15
+3 +2 +2 1
15 2 9
+1 +3 +2 1
15 16 17 17
+ 3 + 3 + 1 + 2

www.snowmath.com



https://www.snowmath.com

EHst7] (Hot7] 3)

+
N

ool o o

+
—
— 00

—
O

+
—
N

—_
(@)

+
—
- W

—
N

+
—
w O

N
w

+
RN
N —

N
w

+
-
- U

—_
(@)}

+
—
w U

—
(00]

www.snowmath.com

+
—
w o

—_
O

=Rt

+
—
N

N
O

+
—
- b

—
Ul



https://www.snowmath.com

